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3% Choose the best answer to fill in the blank.

1. A: The difference between these two words seems so small that it’s hard to believe they
aren’t synonyms.

B: That’s because sometimes, words have

(A) rich (B) particular
(C) vital (D) subtle

differences in meaning.

2. A: Why are the women protesting?

B: They believe that the current president
(A) combines

(C) intertwines

against women.
(B) discriminates
(D) regulates

3. A: I've hardly slept at all for the last 2 nights. I'm so tired.
B: Yes, you look
(A) exhausted
(C) sickened

(B) interested
(D) dejected
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